A= At B« +C ?’C/Z?/z”‘z"‘
_—> ‘Bﬂ-— ‘()_("\(-0-) "’b

4

— v

(2 \/ = )
Jé: ,-2_(><-’5) 3 (33 ?

\s - ,L(%Z., b 4 Q) +7

3', S VAR S K AP O e

i
\‘6’, ’7/’¥L1c\’|/'¥ ~1 ¢

\




,—:{:—' —
418 _ _
o - (X -3) -9
-~

V
.'3-\'\3:,"7-(-'* ‘5\ £ \3

SEETACE R
‘6—_,‘?,.(’\‘ SO






C.', W IW
Lo ’L,(u. ”dm-u.ﬂ.—“ e~ o

p
W\SLzK .
Y= ('\1+131»3 )
_yAy -0t
2 U M A
e Wan "LA\(W,S | i
?q_,\,g_ QMMN-CA‘( 5
QM l—\%uo W‘b 2
(X\-H -3 =90 / ‘(’\'1,\1’3 \
()4#7’)2 . 3 Q 7(\"1:-\'3
e \
< = -1 %7 \%\QBS
~\

X - 1 -7












Se \3* Y (x4 ,\]
— ’QWWWW“*W
\gorn X0

y -

———

—



